Year 6 Home Learning — Tuesday 24" March
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e The current height of the Eiffel Tower in Paris, France, is 1,063 feet.
e The length of your small intestine is about 6 metres.
e The moon is approximately 384,400 km from Earth.

MATHS

Login to sats companion and go to the task(s) set by your maths teacher. Submit your answers
and/or complete the word problems below

ENGLISH

Login to sats companion/spag.com and go to the spag task(s) set by your English teacher. Submit your answers.



Use a formal method to calculate the answers to these questions.
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There are 77 biscuits in a packet. A supermarket orders 9778 packets. How many biscuits will be in the 9778 packets?
A school supplier buys 5540 boxes of pencils. Each box has 56 pencils. How many pencils has the supplier bought?

A wholesaler sells pineapples for 96p each. The wholesaler sells 3990 pineapples in one
week., How much money will the wholesaler receive for the pineapples?

It takes 78 hours for a satellite to go around the Earth. How many hours will it take for the satellite to go around the Earth 9859 times?
A machine makes 8521 dice in a week. In a 52-week working year, how many dice are made in a year?

A cinema chain has 28 cinemas. The average weekly attendance is 9828 people. What is the total attendance across the whole chain?
Sacks of potatoes contain an average of 95 potatoes. In a year, a farmer sells 4911 sacks. How many potatoes does she sell in one year?
A crate of screws contains 5193 nails. A DIY chain orders 52 crates for all its stores. How many nails are in the 52 crates?

There are 43 children in year 6. Each child pays £75.60 for a school trip. How much do they pay altogether?

A rugby club has an average attendance of 6962 people to each match. What is
the total attendance for the 39 matches played in a season?



Match the electrical circuit symbol to the correct name and function by highlighting the words in the given colour.

For this task, use the link
https://www.google.co.uk/search?q=circuit+symbols+ks2&source=Inms&tbm=isch&sa=X&ved=2ahUKEwjq9lip65 oAhWilFwWKHZRtCblQ AUoAXoECAwWQAwW
Afterwards, try to have a member of your household test you to see how much you can remember.

| - Transfers chemical energy
—ll- { 1 cell to electrical energy.

_®_2 motor Two cells in series.

) Transfers electrical energy
I:l 3 Closed SW'TCh to sound energy.
Transfers electrical energy
——||_ 4 baﬂ'ery to movement.

—0—0— buzzer Completes the circuit.

. Transfers electrical ener
—@— open switch 7

to light energy.

—0— 00— bulb Breaks the circuit.



https://www.google.co.uk/search?q=circuit+symbols+ks2&source=lnms&tbm=isch&sa=X&ved=2ahUKEwjq9Iip65_oAhWilFwKHZRtCbIQ_AUoAXoECAwQAw

